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BIOLOGY SSC-II
SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section—A is compulsory. Ali parts of this section are to be answered on the question paper itseif.
it shouid be compieted in the first 20 minutes and handed over to the Centre Superintendent.
Deieting/overwriting Is not allowed. Do not use lead pencil.

Q.1  Circie the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)
(xi)

(xii)

Most of the gaseous exchange in a leaf occurs through:

A. Stomata 8. General surface

C. Cuticle D. Lenticels

Which is the correct order for the path taken by urine after it leaves the kidneys?
A. Urethra, bladder, ureters B. Bladder, ureters, urethra
C. Ureters, bladder, urethra D. Bladder, urethra, ureters

To which part of ear, the tympanum belongs?

A Inner ear B. Middle ear C. Externalear D. All of these
The adrenal cortex secretes many hormones called which maintain the balance of salts
and water in bloed.
A. Vasopressin  B. Corticosteroids C. Adrenaline D. Somatotrophin
Babies are born with soft bones.
A 350 8. 300 C. 250 D. 200
A corm develops into new garlic plant. This is the process of:
A Vegetative propagation B. Regeneration
C. Meiosis D. Gametogenesis
produce secretions that provide nutrients for sperms.
A Cowper's glands B. Prostrate glands
C. Seminal vesicles D. Sperm ducts

In the cross pollination between a true-breeding yellow pod plant and a true-breeding green pod plant,
where green pod colour is dominant, the resulting offsprings ( 7, generation) will be:

A -;— green, % yeliow B. All yellow
C. -:; yellow,%green D. All green

Charles Darwin proposed that organisms produce many more offspring than can possible survive on the
limited amount of resources available to them. According to Darwin, the offspring that are most likely to
survive are those that:

A Are born first and grow fastest B. Are largest and most aggressive
C. Have no natural predators D. Are best adapted to the environment
Which of the foliowing is the abiotic component of the ecosystem?
A Producers 8. Herbivores C. Carnivores D. Oxygen
is a pain killer produced by the brain:

A Insulin B. Interferon C. Beta-endorphin D. Urokinase

is the study of drug composition, properties and medical application.
A Pharmacy B. Pharmacology C. Vaccination D. None of these
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BIOLOGY SSC-li

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B' and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=233)
{i) What do you know about Emphysema?
(i) “Along with excretion, kidneys also play role in osmoregulation”. Give brief comment on this statement.

(i) Write a short note on the process of hearing.

(iv) Write briefly about the three types of Cartilage.

(v) Write a short note on Tissue culture and Cloning.

(vi) What conditions are necessary for the germination of seeds?

(vii) Why Mendel selected Pea plant {Pisum sativumn) for his experiments? Give resons for this selection.
{vii)  What are the Homozygous and Heterozygous genotypes?

(ix) Write a short note on effects of Air Pollution.

{x) What do you know about overpopulation?

(xi) How can biotechnology make the environment better? Give an example.

(i) Write a short note on Alcoholic fermentation by yeast.

(xiii)  Define the following:

a. Antiseptics *
b. Antibiotics
c. Disinfectants

(xiv)  What do you know about Xerophytes?

(xv) Write a short note on types of Arthritis.

SECTION — C (Marks 20

Note: Attempt any TWO questions. Ali questions carry equal marks. (2 x 10 = 20)
Q.3 a Explain the mechanism of breathing in Human beings with labelled diagram. {06)
b. Explain the components of Human Skeleton. (04)

Q.4  Explain the process of sexual reproduction in flowering plants (Angiosperms) with the help of

labetled diagram. (10)

Q.5 Whatis Genetic Engineering? Also describe the basic steps and achievements of Genetic Engineering. (10)
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BIOLOGY SSC-lI
SECTION — A (Marks 12)

Time allowed: 20 Minutes -

NOTE: Section-A is compulsory. Ail parts of this section are to be answered on the question paper itself.
It should be compieted in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C !/ D. Each part carries one mark.

(i)

(ii)

(ii)

(iv)

(v)

(vi)

(vii)

(vili)

(ix)

ty

(xi)

(xii)

Which process does NOT occur in the nasal cavity?

A Trapping of large dust particies B. Humidification of inhaled air
C. Warming of inhaled air D. Exchange of gases

During peritoneal dialysis, the waste materials move from:

A The abdomen to the dialysis fluid
B. The dialysis fluid to the peritoneum blocd vessels
C. The peritoneum blood vessels fo the dialysis fluid
D. The dialysis fluid to the abdomen

In certain parts of body, the cell bodies of many neurons form a group enveloped by membrane, calied as:

A Schwannceli B. Ganglion C. Myelin sheath D. Nodes of Ranvier
Calcitonin and parathormone complement each other and regulate the level of jons in
blcod.

A Calcium B. Sodium C. Potassium D. Magnesium

The skeletal system of some invertebrates is on the outside of body and is called as:

A Endoskeleton B. Hydroskeleton C. Exoskeleton  D. None of these
Which is NOT an advantage of grafting:

A The graft is identical to the parent plant.

B. Grafting allows the propagation of seedless plants.

C. The graft combines the characteristics of two parents.

D. Grafting may allow for the faster production of desirable fruits.

Which of these cells has haploid number of chromosome?

A Spermatogonium B. Primary spermatocyte

C. Secondary spermatocyte D. All of these

What is the dominance relationship between blood group alleles 7 and 1° ?

A incomplete dominance B. Co-dominance

C. Complete dominance D. None of these

A purple flowered pea plant has the genotype PP. Which of the following statement about this plant is
FALSE?

A Its phenotype will be white flowers.

B. It has a homozygous dominant genotype.

C. When bred to white-flowered plant, all offspsing will be purple flowered.

D. All the gametes produced will have the same flower colour aliele.

When we eat onion, our trophic level is:

A Primary consumer B. Secondary consumer

C. Decomposer D. Producer
is used in the production of plastics.

A Acrylic acid B. Glycerol C. Ethanol D. Formic acid
interfere with the synthesis of bacterial cell wall and so are bactericidal.

A Tetracyclines B. Cephalosporins C. Sulfonamides D. Morphines
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BIOLOGY SSC-lI

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use suppiementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and ieglbly. .
SECTION — B (Marks 33}
Q.2  Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 iines. (11x3=33)
(i) How would you differentiate between a stoma and a lenticel?
(ii) What are the major organs involved in homeostasis in human body? State the roles of each of these
organs.

(iii) Write a short note on paralysis.

(iv) What are ligaments and tendons? What functions do they perform?

v) How would you differentiate between Binary fission and muitiple fission?

(vi) Give the main objectives of Pakistan’s National AIDS Control Program (NACP).
{vii) Write briefly about the Watson and Crick model of DNA.

(viii)  What do you know about the incomplete dominance?

(ix) What do you mean by the concept of 3Rs with reference to the conservation of natural resources?
(x) Write a short note on the effects of water pollution.

{xi) Briefly describe lactic acid fermentation by Bacteria.

{xii) Write down the cbjectives of Genetic Engineering.

(xiiiy  Describe briefly the mode of action of vaccines.

(xiv)  What do you know about Hydrophytes?

(xv) Differentiate between Hinge joints and Ball-and -socket joints.

SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. . (2x10 = 20)

Q.3  Explain the structure and functioning of Human Eye with the help of labelled diagram. (10)

Q.4  How would you prove that variation leads to Evolution. Also explain the Mechanism of Evolution in

Natural selection. (10)
Q.5 a Explain the various sources of Medicinal Drugs. (06)
b. Write notes on the following: (04)

(i) Acid Rain (i) Global warming
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